Test No. 29
Total No. of Questions : 100 Marks : 100 Time : 1:00 Hour Date — 30.05.2020
Instructions:

1. All questions are compulsory.
2. Right answer carries 1 mark.
3. There has a penalty for wrong answer of % marks.

1. The production of raw silk.

(A) Sericulture

(B) seroculture

(C) sariculture

(D) syrumculture
Correct Answer : A

2. Politicians are notorious for doing undue favor to their relatives.

(A) pluralism

(B) nepotism

(C) dualism

(D) polarism
Correct Answer : B

3. Select the correct indirect form of the given sentence.

Raj said to Priti, “While | was studying, you were playing.”

(a) Raj told Priti that while he had been studying, she was playing.

(b) Raj told Priti that while he had been studying, she had been playing.

(c) Raj told Priti that while he was studying, she was playing.

(d) Raj told Priti that while he was studying, she had been playing

Ans.(c) Sol. According to the rules, while changing a speech from direct to indirect, past continuous tense does not change when
itis used in time clause. Hence, option(c) is the correct choice.

4. Murder of a king is known as

(a) butchery

(b) regicide

(c) slaughter

(d) infanticide

Ans.(b) Sol. Regicide means a person who kills or takes part in killing a king.

5. and my younger brother went to the movie all by ourselves.

(a) 1

(b) Mine

(c) Myself

(d) My own self

//IH

Ans.(a) Sol. ‘I’ is the correct option. In the subjective case subjective pronoun should be used, thus “I” should be used.



6. Select the word with the correct spelling.

(a) Scholership

(b) Partnarship

(c) Entrepreneurship

(d) Leadeship

Ans.(c) Sol. Entrepreneurship: a person who organizes and manages any enterprise, especially a business, usually with
considerable initiative and risk.

read each sentence to find out whether there is any error in it.
7. The doctor asked his patient to regularly take his medicine.

(a) The doctor

(b) asked his patient

(c) to regularly take his medicine.

(d) No error

Ans.(c) Sol. ‘To take his medicine regularly’ is correct

Recent discoveries have (1) that Indians of the early days appear to have been highly civilized (2) many ways. They had
massive public buildings and comfortable dwelling houses built mostly of brick. They had made arrangements (3) good
sanitation, and an elaborate drainage system. They knew how to write but their language, which has not yet been (4) was
not alphabetic but syllabic (5) the Sumerian language.

8. 1.

(a) derived

(b) investigated
(c) seen
(d)shown

ANS d

(a) under
(b) through
(c)in

(d)to

ans C

10. 3

(a) against
(b) by

(c) from
(d)for

ans D

11. 4

(a) deciphered
(b) before

(c) talked
(d)used



(a) closely
(b) before
(c) like
(d)similarly
ans C

Read the passage carefully answer the questions.

Indian airlines had no positive response to the incident occurred in the failure of aeroplane engine.lt was
1989 ,Indian airline B0O59 got crashed in the middle of the Indian ocean,205 passengers were died.There were no clues
about the B059 , some says that it got crashed but some said it got lost.Passengers relative were worried about their dear
ones. Government decleared the issue of B059 as a priority,Indian navy were given responsibility to find the B059 but
nothing was found .After a year some fishermen found the black box of B059, which confirms about the crash of Indian
aeroplane B059 due to engine failure.
13. What was the reason for the crash of B059?

A. Engine failure.

B. Crashed with bird.
C. BO59 catches Fire.
D. Pilot failure.

ans. A

14. Who got the responsibility to find out clues about B059?

A. Indian Coastal Guard.
B. Indian Army.

C. Indian Navy.

D. Indian Air Force.
ANS. C

15. B059 got crashed at which place?

A. Atlantic Ocean.
B. Indian Ocean.
C. Bay of Bengal.
D. Coastal area.
ANS. B

16. What could be assumed from the passage?

A. It was an airline mistake.

B. Government did not take any step.
C. Indian Navy did not work properly.
D. None of these.

ANS. D

17. How many passengers were died?

A. 200.
B. 210.
C. 205.
D. 219.



A |1

| 18. 2Teg EXAMINATION 3 guif & U@ fahcret IR g, [T A Icdsh & HEY Ase; H 3=l €1 a7 & Silcled i 3ol & quTATeT o

HEF 3T 8?2

(a) dteT & 31&H
(b) T

() ar

(d) e

3cck-d

19. Tgel AR AT o71$ §1 9lle, AT & T & | e, TRl 6 sgeT g1 9T, Jaie i o7iel & e, e oy aarfcrer
&1 Ve YT H FAT A E

[a] &8

[b] AT A
[c] AMHAT
[d] stramm
38 ¢

20.2, 3,5, 7,11, 13, ?

A 15
B 17
Cc19
D 23

ans B

21. LAUGHTER & i4T eUse A8l §oi1 T ST ohcll &

(A)HEAL
(B)REAL
(C)GAME
(D)LATER

ANS.

22. U STl H9A T T Jorr & §, g8 ++90 +HeX qF HT AR I R T 39 a1 3R AT Fg +20
+HEY Tl 3R GoT: 3Uel T8 3 AT 3R AT & ©R IT, S GET F #+30 «HIeT gy &1 3R e et o
el fHem| T8T F a8 100 +HIEX 3cak Fr 3R 37 3R Je&T T el & 39 &ar & A ag ™ar & fhaer
q{ﬁan?

(1) 80 HY
(2) 100 #Hr
(3) 140 #r
(4) 260 #Hr
ANS . 1



'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

2. @FIP, QR S THI U & Rl # § JAF FaR HA N Th-g & IJA-AH Aefaf@a wa
AESE- U, R &as 3N gEU gl ‘P FaIR & & 3Mr g1 ‘T Q & 95T &1 ‘R° Q & @ B

al AT & 7 A lT-AT HHG Teh hlX H 57
(1)P,Q 3R U () T,Q3R P
(3)P,R3IRT (4)QU3R S

ANS. 2

24, TAFATATE Ul HT AGHIN H I Tl HH & AR fod| .
Rainbow ii. Rancour iii. Rattle iv. Rainy

C. ii, i, iv, iii
D. i,iii, ii, iv
Answer

5. P+HQHF ATATE P, QF T E; P~ QH AT g P, Q M U &, P x Q &l Adadg § P, Q & 615 &,
P+Qa&l Adad g P, Q fir AT & 3k P=Q &1 Adad § P, Q & g7 &1 What does UxW--V mean ? /
UxW--V &T FIT #dad g ?

A U VHRarg
B. U, V& #demg
C.UWHIHASE

D. U VHIRTE

Answer
D. U, V & drar g
26. & IS AW F el VAT W HFF § WA R AT & § Flef-a1 38R Tog 38 QW Hm|

"r se_ os ro er se "

A. rores
B. roeso
C. oreso
D. oesrs

Answer

C. oreso

27. &0 &1 A1e § H 38 T FT SeAfea 13 3R 16 ST & o # gl § Siafeh 3HH T6l I Ig sl ¢ o
3% O &1 SeAfeeT 14 3R 18 ST & & Usdl g1 3aish fUar & SieAfeel fone &t g fow w et
TEAT gl ?

A. 16 3T
B. 173



'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

D. 1531
Answer B. 15 S

28. - 7 fou a1v &Rt & gl 7 U 7T Agredidr & el H IAT FE 3R [GU T F15 F ¥ ST &-
-1 (@) (a) ATSATS (b) W () ISl (d) FIT
FAl-Il (FgTedd) 1. afeor 3AReRT 2. TfRiar 3. JUT 4. 3k

%< : (a) (b) (c) (d)

A 2431

B. 2143

C. 2413
D. 4213

Answer

C. 2413

29. W 3ccR gIfAv Ife RAJ = 29 d EDUCATION = ?

A. 92
B. 98
C. 86
D. 88

Answer A. 92

30. Gl # Ield F&IAT AT &Y 5, 25, 100, 250, 600

A. 25
B. 100
C. 250
D. 600

Answer C. 250

31. H&ar 8132649 # WA fohelel 3ieh &, o1H & Uedsh TEAT & UREH & 3ol & g 8, o=t T S« et &1
ded ®A # foEe W g §7?

A TH
B. ar
C. dreT
D. Ueh &Y AT

Answer C. dieT

feem-fader @ & R SRR A eAeqdE afed dUr G A wea & 3l QS|

A, B, C, D, E F, GaU H T il AT & °RT TRB sheg; T 3R He
WEISE|H BFIUANME TN FF g g |A CHITATTE N F o S i & | G, A
ST gET & | D, E g guut |



(A) H
B) A
©G
(D) E

Ans . B

33. A & U A & dar g2

(A)C
(B)F
€)B
(DG
Ans . C

34. @ & Y fohw oA A ggell AfFd q@R FfFd & Tehed 1T doT ¢ |

(A) EH
(B) DB
(C)CE
(D) AF
Ans . B

35. o e 1% FoaAt A & FHerar 7A E F1 Gord 872

(A) DH
(B) HC
(C) CA

(D) $oT8 & IS TET

Ans . B.
A f@d STererY @t earegdes qier 3 e fow Iy gt & 3ea) Qifor:

3 &fFd A, B, C, D, E, F, G 3R H. @ & S1adY 3R A & 71 &
39 STeATEA FT ST HAT & oAfehel AR oTgT HT AT T H g Tcdeh QU T FEN & IT ar 39T
SeAfesT 8th, 15th, 19th AT 23 ST AATT §. & I8 ARG &I had Teh eTidd ST Gl HAT g. A I
SeAfe T I 7 & 19 &t §. A 3R H & #ET Fad Teh IfFd 39T SeAfed AT §. H 3R B &
;e AT AT 39T oAl FAGY. H 3R C & AYT 2 s3fFd SeaAfea A= . C 3R F & A7 ar
IfFd AT FoAfesT HAAd 6. D 3R E & ALT had T cIfFd STeHiGe] HATT §. D &7 SeAlGe GU 3T
FEAT T 23 ARG HY 7L ¢

36. 8 STTadY Fr haET SleHATe 872

@A
(b) B
(G



U

37. C &I J=Afe Fg adi@ =1 g2

(a) 8 STeTay
(b) 19 AT
(c) 23 STAaT
(d) 8 AT
ANS. C

38. AFARI@T & I FiF D & & dIc 39T SJeHACA HAATII?

(@) C
(b) H
© A
(@) F
ANS. D

39. A 3R G & ALY forda AT 39T STTATGT AATTAN?

(a) T
(b) ar
(c) IR

(d) S et
ANS. D

40. E fA=faf@a & @ frg aR@ =1 39ar seafes garem?

(a) 15 STeTar
(b) 8 AT

(c) 23 AT
(d) 15 AT
ANS. C

41. If the cost price of 25 pens is equal to the selling price of 20 pens, then profit percent is

IfE 25 91 & FT A, 20 99 & AFT Fqew F wAW ¢ A o7 iR @
(a) 20%
(b) 25%
(c) 15%
(d) 5%
Ans.(b)



Sol. 20 SP =25CP
(C.P)/(S.P)=20/25
Profit % = 5/20 x 100
= 25%

42. A trader bought 120 kg of potato at 24/kg. He sold 80 kg of it at 50% profit and the balance at
25% low. Find the total profit or loss?
TF SR & 24 TOC gfa fre w120 fRet ane @iie) 3@ swaT 80 fRaY 50% wmer Y AW 25% Ffe
W 39 fe@m Fa @7 @1 gife A qifera?

a) 50% Profit/ oImeT

b) 25% Profit / @87
c) 50% Loss / gIfa
d) 25% Loss/ gIfar

ANS. B

(
(
(
(

43. A merchant marked the price of an article by increasing its production cost by 40%. Now he

allows 20% discount and gets a profit of Rs. 48 after selling it. The production cost is

UF SR & qE] F1 qed 58S 3cUGd Aed § 40% TG IHfha FIaT §. 39 9§ 20% o< &ar § 3R
3@ IAA F 91G 48% FT AT UIed AT §. 3cUGd Hed o

(a) Rs. 320
(b) Rs. 360
(c) Rs. 400
(d) Rs. 440

Ans.(c)

Sol. Let production cost be 100
Marked Price = 140
Discount =20%
SP =112

Profit =112 - 100
=12r

12 ratio —48

1r —4

100r —400

C.P >Rs. 400



44. A shopkeeper sells rice at 10% profit and uses weight 30% less the actual measure. He gain
percent is
TF gEFEGR 10% WeT 9 aad d9ar § 3R aafdF anr & 30% FAH I F1 YA FAT §. IHET T
yfaera

a) 57(2/3)%

b) 57(1/7)%

c) 57(2/5)%

d) 57(3/7)%

Ans.(b)

Sol. Let C.P be Rs. 100 of 1000 gm be
C.P —1000 gm —Rs. 100

Profit of 10%, S.P =110 Rs

(
(
(
(

Use 30% less weight

S.P -700 gm —Rs. 110

S.P of 1000 gm —110/700 x 1000
=1100/7

Profit = 1100/7-100

=400/7

Profit % =400/(7/100)x100
=400/7=57 1/7%

45. The perimeter of base of a right circular cone is 88 cm. If the height of the cone is 48 cm, then

what is the total surface area (in cm2) of the cone?

U OF AER OF F IUR A R 88 A+t ¥ IR o0F 1 I 48 Fe &, A UF F F AAe AAB
(cm? ®) F1 87
a) 2200
b) 1100
c) 2354
d) 2816

ans d

(
(
(
(

46. The height of a cone is 24 cm and the area of the base is 154 cm2. What is the curved surface

area (in cm?) of the cone?

UF OF HY FA$ 24 WA § 3R IMUR FT & 154 cm? ¥ UF F THT [T SR (WA H) 74 §2
484
550
525
515

a
b
c

(
(
(
(d

)
)
)
)

e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e



47. The radii of two right circular cylinders are in the ratio 2 : 3. Their heights are in the ratio 5 : 4.

The ratio of their curved surface areas is

A I godi Ao B BSAT 2: 3 F T H §| 3R FAE 5: 4 F HIT A §l 3TF TR TOT QTG
FT AT FAT 62
a)5:6
b) 3 : 4
c)4:5
d)2:3
ANS A

(
(
(
(

48. The ratio between the curved surface area and the total surface area is 2: 3 and the total surface

is 924 cm”*2. What is the volume of the cylinder?

UF 90 & IF [SOIT &G IR T qOT &G F HIT 2:3 § AN FA 7T SABA 924 cm2 .
YT FT AT e g2

(a) 2156 cm”3

(b) 2183 cm”"3

(c) 2492 cm”"3

(d) None of these/ A& & FI§ g

ANS A

49. If the curved surface area of a cylinder is 1320 cm”2 and its base radius is 21 cm, then what is

its total surface area?

I I FT T TOT SHd 1320 cm*2 IR FHSH1 YR Bsa1 § 21 FA &, A s0F1 F T &G
¥ 82

a) 4092 cm”2

b) 2084 cm”2

c) 5104 cm"2

d) None of these/ 38 & &I =TgT
ANS. A

(
(
(
(

50. A spherical metal ball of 6 cm radius is melted and recast into three spherical balls. The radii of

two of these balls are 3 cm and 4 cm. What is the radius of the third ball?

6 9 BT & v MR urg F M F Ryuren srar § 3R T MR A F gqo 7r ST 7L s HA @ @
el it Prear 3 @Y 3 4 dr § A g A BeAr T 2

(@) 4.5 cm

(b) 5 cm



51. From a solid cylinder of height 10 cm and radius of the base 6 cm, a cone of same height and

same base is removed. The volume of the remaining solid is:

wF o et & I Far$ 10 4.0 3R 3R B 6 At § 399 & g 391§ IR A ImUR
B aren v oF fAFTen Srar ¥, A9 smr F Irae e 87

a) 240 1T cu. cm

b) 5280 cu. cm

c) 620 1 cu. cm

d) 360 1T Ccu. cm

ANS. A

(
(
(
(

52. Two right circular cylinders of equal volume have their heights in the ratio 1 : 2. The ratio of their

radii is:

& WA A & o odIT dofeT P FA1$ 11 2 5. 3T B &7 requna @
a) V2:1
b) 2 : 1
c)1:2
d1:4
ANS A

(
(
(
(

53. The radius of base and curved surface area of a right cylinder ‘r units and 4anrh square units

respectively. The height of the cylinder is:

TF oF doe & MUR F Bwr 3R 9% 8T aba FAM: P FFS AR 4arh T sFS T Ao Hr FAg
foraelt 82
a) 4h units
b) h/2 units
c) h units
d) 2h units

ANS. (d) 2h units

(
(
(
(

54. Structural unemployment is a form of unemployment caused due to-

AATHSE SN, RS FT T IR § 98 W FROr @ar 72
(a) Deflationary conditions/ 3maehifa Fr feufa

(b) Heavy industry bias/ $RI 3¢l qalarg

(c) Shortage of raw materials/ &Td Tl ST HAT



Ans.(d)

Sol. Structural unemployment is a form of unemployment caused by a mismatch between the skills that
workers in the economy can offer, and the skills demanded of workers by employers. Structural
unemployment is often brought about by technological changes that make the job skills of many

workers obsolete.

55. The twin objectives of poverty eradication and attainment of self-reliance were inculcated in -

Tt seaee AR ITeAfAsar Hr Witd & et A N e e F i fhar @ ar

(a) Second paln /g&dr ATl

(b) First plan/dgelr IrstaAT

(c) Fifth plan /aradr ISt

(d) Fourth plan/@itefy IrstaT

Ans.(c)

Sol. The twin objectives of poverty eradication and attainment of self reliance were inculcated in the fifth

plan.

56. Unemployment which exists in any economy due to people being in the process of moving from
one job to another is called-
_ I @F e 7 S R ot srdewaedr F oF aafad qanr e AlRd sz qEdt Al @«
S Y ufFar & FRoT Al ¥

a) Structural unemployment/ TXAATCHS SRISTITR
b) Frictional unemployment/ SfaRIYTcHAS SRISTITRT
Seasonal unemployment/ FEHT SRISEY

d) Cyclical unemployment/ T SRISTITRY
Ans.(b)

(@)
(b)
()
(d)

Sol. The Frictional unemployment is a type of unemployment which exists in any economy due to people

being in the process of moving from one job to another.

57. Lorenz curve shows @Real d&% 4T g2itdl &7

a) Inflation/ FgredhIfer

b) Unemployment/ SRSy

c) Income distribution/ 3T faaRor
d) Poverty/aiyet

Solution:C

(
(
(
(

The Lorenz curve is a graphical representation of income inequality or wealth inequality developed by

American economist Max Lorenz in 1905.



58. Fiscal policy in India is formulated by - #Rd & Tad¥T AfT FE F g AR Hir F7et &-

(a) Reserve Bank of India / IRAT R 8%
(b) Planning Commission/ JISt=iT 3TATeT

(c) Finance Ministry / facd #arteg

(d) SEBI/ &t

Solution:C

Fiscal policy in India is formulated by Finance Ministry.

59. Why was ‘Tendulkar Committee’ constituted?

‘dgedt afAfer &1 e frw FRor fFar @

(@) To measure unemployment/ SRISRTRT &l AU & T

(b) To measure growth rate/ Td&E &I & AU & T

(c) To measure poverty/ IRET HF AT & faT

(d) To measure agricultural produce/ H¥ 39st &I AY & foT

Ans.(c) Sol. Suresh Tendulkar committee was constituted by the Planning Commission in 2005. The current

estimations of poverty are based upon the recommendations

60. National Income Estimate is prepared by?

TSI AT T HFAT IR FRar e -

a) Department of Economics and affairs(372rmes faermr)

b) CSO(Central Statistical Organization)(TFTH3M (hard TTETHI HISsT))
c) RBI(3REN3E)

d) Finance ministry(facd #FTer)

ANS. B

(
(
(
(

61. “Athlete’s Foot” is a disease caused by:

‘Tyelie T Uw AN § S _ & SR gl &
(a) Bacteria / Sflaro]

(b) Fungus / &d=s

Protozoan / JIEISI3T

Nematode / f@#cIS

(c)
(d)
Show Answer

S1. Ans.(b)

Sol. “Athlete’s foot” is caused by Trichophyton fungus. It is a disease in which infection occurs between

the toes.



62. Hepatitis-B is caused by which micro-organism?

tiesRu-d@t fFe ¥aw g & FROT gar §7?

(a) Virus / fasmop

(b) Protozoa / WIeISI3T

(c) Bacteria / Sfrarop

(d) None of these / 313 & IS AGT

Show Answer

S5. Ans.(a)

Sol. Hepatitis-B one of is the most common serious liver infection in the world. It is caused by the
hepatitis B virus (HBV) which attacks liver cells and can lead to cirrhosis, liver cancer or liver failure
if it is not detected and managed. The virus is transmitted through contact with infected blood and

bodily fluids that contain blood.

63. Which one of the following diseases is caused by bacteria?

frfafaa & @ # @ ferd shary & FRor g 32
(a) Tuberculosis / & AT / TYSheAITEH

(b) Influenza / S=FelTeT

(c) Polio / Giferar

(d) Malaria / #FreIRaT

Show Answer

S6. Ans.(a)

Sol. P-amino salicylic acid is an antimicrobial drug which is used for the treatment of both tuberculosis and
leprosy, Tuberculosis is an infection disease caused by bacteria “Microbacterium tuberculosis”.
According to World Health. Organisation, tuberculosis causes the death of the largest number of people

at present time.

64. Match List-l (Disease) with List-ll (Types of disease) and select the correct the correct answer

using the codes given below:

M-l w1 gl F a1 B Yk g F A R v s F 7@ san 7 oaw w1@

1A
List | (Disease) List 1l (Causes)
& 1 @) 1l (FRoT)
A. Haemophilia / gafsforar 1. Deficiency disease F#Y & HFROT AN
B. Diabetes / 31{1,113' 2. Genetic disease / 311733% T
C. Rickets R¥Fea 3. Hormonal disorder/ gHfaer AR
D. Ringworm/ &g 4. Fungal infection / Warel WeHAIT
Code:



(@ 2341
by 2314
c) 3214
d) 3241

Ans.(b) Sol. The correctly matched list are: Haemophilia - Genetic disease
Diabetes - Hormonal disorder
Rickets - Deficiency disease

Ringworm - Fungal infection

65. @rer-diel 7yaT, __ & 3c9ied & faw aredt B

(@) 9

(b) STeRT
(c) ==
(d) et
ANS D

66. STeitg g & ot & T anfAer §2

a) I8 Rax afer earT oefar §

b) sHH ATSeIST 3R WIEhe ST AT HF gldl ¢
c) 3UH ¥d Hr AT AWF gar &

d) IWIFT T

ANS D

(
(
(
(

67. Watermelons grow best in

R fra el & gad 3reor fg T 82
(a) Alluvial soil / STeite fAET

(b) Sandy soil / el fAgY

(c) Black soil / @relr fAgT

(d) Laterite soil/ sierse fAgT
ANS B

68. The Laterite soil is found in -

orexrse fAgr #gr arit ST -

(a) High rainfall states/ 3= g =4t
(b) In deserts/ XFEdT &

(c) Tropical areas/ 3SUTehfcaelT &4t



r

~(d) Dry and humid tropical areas/ g[s& 3R 37¢ 3surfestyg et
Ans.(d)
Sol. The laterite soils are commonly found in Karnataka, Kerala, Tamil
Nadu, Madhya Pradesh and the hilly areas of Orissa and Assam. Soil

Colour: Reddish brown in colour due to the presence of iron oxide.

69. UStaTsh _ & reuys ¥ wefOd &

a) argHAS
b) faer

C) 9e H
d) &

ANS B

(
(
(
(

70. 9Rd # ¥ @AFT & Flq s+ waa &2

A. el

B. daT%

C. 5¢

D. 3wied el
Ans: D

71. ST 9T & &IH AT ¢ -

A Seoissd 3TFeT
B.Fafsher 3 cr
C.3Mafee 3Fa
D.arsfedh 3Fdl
Ans: dealissh 37Fcl

72. siarer 3 AHEY F AT SeRErRN IHE GguF FieT @ °v ?

AfRYge msaEEdae

B.siT AT

C. NONE OF THE ABOVE
D.FaReT

ans a

73. T & weal F ew F wgwa @

ASeailgs 3TFdl X
B.tfafes 3ol X

-



O A & Suar & w7 F ygaa frar smar @, frwer faor @
' T W fREd § 2

78. Fl AT HRAT TS gl FT IH T3T 3cAEH &2

H\
W

w

g B,
mm wwwww m WWW 5

' cWA X/ \W W« tS C LoF A\W.\RW
’ o & 3 ¢ B y

m mmmmw mmmmm mmm 7mmmm mmms
o < N < o O 0 < N < o O 0o < < m O QO < ~ & &8 L 3T < < m O Ao «



79. HRT T WA 3T WiEhlewd 3cUTEH IsT HieT AT §72

A. 3cal ue2r
B. ol

C. AL weer
D. uf¥gd sarmer
Ans: A

80. fwafaf@a # ¥ wla v gafaa 7dt &2

A. & TES - TN, FHRa

B. WA HHI- HFhT

C. S HEA - WRT,RA

D. TR BHA-HUTH

Ans: A

81. AR # Fi W vl WiggEw 3eures i Tlg, RAavor it R & v FFAER §?

A. Y F@FeT

B. #IRCT @iy foer#d

C. sthg

D. TE%s

Ans: B

82. Trah g B TT WHa FaT §

Which side does the magnetic needle point to?
A.d east

B.9fRaH west

C.3ccX north

D.gfa1or south

Ans: 3cX

83. SEAAT &1 & Rgiad Arfaf@d & ¥ grafeua 272

The working principle of dynamo is related to the following?

ATg afel 33T & i 3T & gRafdd akar § It converts sound energy into mechanical energy
B.7g facgd 3o &1 Iifaeh 31 & gRafcda &ar & It converts electrical energy into mechanical energy
C.7g fegd 3o # tafel 3o & gRafda axar & It converts electrical energy into sound energy.

D.ag Iif¥eh 3T 1 fdegd 3o # qRafcdd Hdm g It converts mechanical energy into electrical energy
Ans: D



84. THBHT FAT § What is transformer ?

A.DC &I AC # gRafdd aXar g Converts DC to AC

B.AC dleedr &I "era 3R §el # Y giaT & AC is used to decrease and increase the voltage
C.AC dreedr @ DC dleedr H gRdfdd #Xar ¢ Converts AC voltage to DC voltage

D.degd 3911 #1 Fif3e 3o & gRafdd #tar &  Converts electrical energy into mechanical energy
ANS. B

85. frelt graw 1 mwdor ufFa we@ AT Fel ol @
A2l Rt W

B.Hew H

C.graehiy 3787 T

D.g3Y 98 AT gl &
Ans: A AT R 9T

86. Under which one of the following Constitution Amendment Acts, four languages were added to the
list of languages under the Eighth Schedule of the Constitution of India, thereby raising their

number to 22?

faser wfduer watuer sfafawat & @ e & Jga, oRa F e F 3med Iaqyh & aga syt v g &
IR AT Y NST AT 9T, W ¥ &A1 22 9F g6 A oAi?
) 90th Amendment Act(90aT Tae=T &)
b) 91st Amendment Act(91ar Ty fafags)
) 92nd Amendment Act(92ar @My 3ifafage)
d) 93rd Amendment Act(93aT TeeRT rfafaeT)

87. Which of the following constitutional Amendment Act, deals with the Elementary Education as a

Fundamental Right?

o & ¥ Fla @1 Sufae diue R, JeE IRER § T F s R 3@ d&@ta 32
a) 84th Amendment Act ( 84al HAY HlefeT)
b

85th Amendment Act ( 85al TN HTelsT)

c
d

Ans.(c)

(a)
(b) (

(c) 86th Amendment Act ( 86ai HRITtIsT &islsT)
(d) (

87th Amendment Act ( 87al TN HTelsT)

N

88. The word “Secular’ was added to the Preamble of the Constitution of India by which Constitutional

Amendment?



F e wdutias gaie ganr weg ‘4 TRUsT HRa & iUl &Y gedi@en A ofeT oAt 82 k
(a) 41st Constitutional Amendment (41aT Fatnfaeh FATY)
(b) 42nd Constitutional Amendment (4237 TaduTfieh TATY)
(c) 43rd Constitutional Amendment (43aT TAETIHh TRA)
(d) 44th Constitutional Amendment (44aT TdUTfed TLATE)
S7. Ans.(b)

89. How many times has The Preamble of the constitution been amended-

afaue it yearaen # Faed IR Fue e T @
(a) 3 times /3 dX

(b) 2 times/2 IR

(c) 1 time /1 IR

(d) Never amended/ &3 =gr

Show Answer

Ans.(c)

Sol. The 42nd Amendment amended Preamble and changed the description of India from “sovereign

democratic republic” to a “sovereign, socialist secular democratic republic”, and also changed the words

“unity of the nation” to “unity and integrity of the nation”

90. Mahabalipuram was established by during the 7th and 10th centuries?

7 dt 3R 10 dt eraredY & SR ___ garT HETaelqwH hr FUrder Fr 7§ e
(a) Pallava /@celd

(b) Pandya/ 9saT

(c) Chola /drer

(d) Chalukya/dTelsd ans a

91. Who was the founder of Vakataka dynasty?

qIFIeE U F FEAUF FieT o?
a) Vindhya Shakti(faeT erfed)
b) Ishwarsena(33a33+1)

c) Pravarsena(¥aRd+)

d) Rudrasena(¥gasT)

Ans.(a)

(
(
(
(

92. Rath Temples at Mahabalipuram were built during the reign of which Pallava ruler?

AT & T AR By dooa awF & arEaTHe F IR qw AT 42
(a) Rajendra |(I=ig |)

(b) Narasimahavarman |(FRf&dgEHT 1)

(c) Parameshwarvarman(9R&a3d#i1)



i (d) Nandivarman I(sFgraserl) T i
Ans.(b)

93. Which of the following Constitutional amendment is related to Panchayati Raj?

fAfef@a # ¥ w9 @1 sdufas v Tad o9 @ 9T §7
a) 74th

b) 80th

c) 111th

d) 73rd

Ans.(d)

(
(
(
(

Sol. The 73rd Amendment 1992 added a new Part IX to the constitution titled “The Panchayats” covering
provisions from Article 243 to 243(0); and a new Eleventh Schedule covering 29 subjects within the

functions of the Panchayats.

94. TYENT Fiag 3R s Fad T ggeg i & 2

ATH AT X

B.IMH 9aTdd X

C.foer aRwev

D3 3 FE T

Ans: Srem aikwg

95. I AT d1 JoIelt F R widemer WA (Constitution amendment) gaRT gdwnfaew gat AT ar=m ar

?

[a] 52 @

[b] 71 3

[c] 743 v

[d] 75 &

96. TUTICl TS & FIAAT H ¢ AT § -

Aamfior F5h

B.amAIGAT

C.f¥ Sedree

D.ATEgfAS ey

Ans: #ATEgAS e

97. AH YAIAl N T &1 FHA ArAfaf@a § & sl At & 2

AP 3T W W/
B.&#qfd, Seiar U drgel &l X
C.UTcee &l AT 3UGR

DT TR @RI feT T 3eert



'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''

98. IR faarer Imgea F FgfFa frad qarr #r ot ¢ 2

{A} AR

{B} TsT W&HR

{C} fSrem AfSTee

{D} e gRwe

99. forem wRwg #1 wemrwfaw R @ ¥ -

100. 9RT & YOl T A3 A G F1 qSUFqar e-

{A} T5T EHR

{B} R &I TeATd 3TThraT
{C} TS HT AT AT
{D} &g TR ans ¢

101,  Secdeg & 947 FEIAA Iaia Sl St &1 qeawslt & & & FEFT 79 & 9 a7
01 fegsx 2000 & 01 sgFs} 2005
01 sigFs¥ 2000 & 07 feTesx 2003|

A 01 Fg#Fs¥ 2000 & 01 Ag#FaT 2005| B
C 01 dgFs¥ 2000 & 01 sfaFs¥ 2003 D



